Priklad

Zavislost v magnitudach koeficientov:
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EZW — embedded zero tree wavelet (Shapiro 1993)

Poradie skenovania koeficientov

LLHL:

CZ 1 HL,
Lmﬁi;’
1},/

Hm,

H iy

Li

\\r

HH,

Kédovanie hodn6t symbolmi:

Input Coefficient

Predictably
Insignificant,
Don't Code

Sigruficant
Desce.r'idanh

enkodera:

T « 9llogz(max(|Y (z.y)1))]

repeat

dominantPass(T")

if image is color then
dominantPass(T")
dominantPass(T’)

end if

subordinatePass(T')

T—T/2

until 7’ =0

initialize dominant list
while dominant list not empty do
retrieve and remove coefficient from head of dominant list
if coefficient # ZTR then
scan for next coefficient
code coefficient and add to dominant list
if coefficient is coded as POS or NEG then
add absolute_value(coefficient) to subordinate list

set coefficient position in transformed image to 0
end if

end if
end while

Code Code Code Code
Fasitive Negative Isolated Zero Zerotres Root
| Symbal Symbol Sym Symbal
Hlavna slucka Dominantny prechod Podriadeny prechod

while not past end of subordinate list do
get next coefficient from subordinate list
coefficient «+— coefficient — 7'
if coefficient > T'/2 then
output a ’1’
else
output a '’
end if
end while




Priklad:
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Aky by bol kompletny vystup, keby bol vstup len 4x4?
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